Math 130. Day 20 Hand In. Name: /AW/\ S LE(3,

0. a) WeBWorK Set Day 20 on implicit differentiation. Due Monday evening. Many are identical to the hand-in problems
b) WeBWorK Set Day20ChainRuleReview. Lots of problems. Due Tuesday evening. Try them sooner. Good review

1. Page 200 #8. Show your work. (WeBWorK Day 20 Problem 3. Check your answer!)
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2. Page 200 #9 Check answer in the back of text. Show your work.
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Before doing the next problems try this one—the answer is at the bottom of page 1. Fmd ~ given that
zy? — 2%y = 20. Be careful using the product rule.



3. Page 200 #14. Be careful taking the derivative and then solving for Z—i (WeBWorK Day 20 Problem 4. Check your
answer!) Show your work.
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4. Page 200 #26. Read the instructions. (WeBWorK Day 20 Problem 6. Check your answer!) Show your work.
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5. Page 200 #28. Show your work. (WeBWorK Day 20 Problem 7. Check your answer!)
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6. An easy one to finish: Find dy/dz if 2%y —z — 8y — 11 = 0. (Very similar to WeBWorK Day 20 Problem 8.)
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